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SME=(FBy*53.7079") — (FB*28.8705") + (FCA*22.6448") — (FDF*11.2417")=0
(933.9674#+%53.7079”) —(2660.02#*28.8705)+ (1861.32#*22.6448”) — (FDF#*11.2417")=0

—15514.5"# — (FDF#*11.2417")=0

—15514.5"# = FDOFgx+2477"
124177~ 112417

1380.09# = FDF#

SF= FByt+ FCAy + FDFx — FEx=0

—2660.02 + (1861.32#* COS 13.4826) + (1380.09#*C0S61.3572) + FE=0

—188.454"# + (FE)=0
188.454"# = FEy

SF¥=FBy — FCAy + FDFy — FEy=0

—933.967# + (1861.324#*SIN13.4826") + (1380.09#*SIN61.3572") + FEy=0

711.2024 + FEy= 0
711.202# = FE,




